(lUL)141-P/141/2023/111

08/02/2023

oo
Pl Samrat- i g
& s s s s

<
I

(08/02/2023) (1UL)141-P/141/2023/111 A&~

A
-

z
-

o

€ 2r0r -
CIFPIF P SPVAIr—=D PASIFNA

&

c ¢

>
-

© -

o

>z

>

-
-

z
-

2222, <
POPAS PAFIAY AAAL SIS

-
!

o0r0r »

[ EEE T

7 232% o0cPr
ASOPS ALK SAVIPA PVAI—D

-
-
-

LY LY 9
,n ,” ny “m xu
\\ N \
LYY LYY ﬁ,of, My M/
/.n/ /.A./ wm ..M "
A A
/ K ™ S\ (R ~
\y an 3o, NS \Y N
) oy N Ny A oy
oy 58 Vo g VY 1
¥ A M w oo
oy \} oy LLY w-ff
L gl L
w oW s s
N s &
“/ ~ ~—
N “ﬁ
RN
Svoay
L RN
Yy ow
R
‘J ’y
N of
)
A\ ./,e
04.. o”
n)
/n /V/o
o et
TRIRN
/M/ af
\ N
Vo
N
\
AN
X X X °
) S = S
o (] —

i * 2 3 ;;O‘) )

0 s

o -

Z o -

A
\

CeCe POorrrd

o
J
t
N
X
{
sl
)
\
\
}
\
A
N
>

-
-

3 -
-

- 0 -

o ¢
PAS SN S5oE 25 pa

[ Etd




2 o5

$rr> o9
VIR SO S s
P z_ @

0 2¢Cr> ©0 30 COF,

TSI PA

L
-

BPY OIS NANSJN D

oc
-

o0r 0 - >

-
-

¢ 2r c?o
AJ DL SAASS

> -
- }) -

ceCe PO o

CBANS IS S,

1

-
-

-
-

2.
SP® AsA@®S
-

- € dee
5 55 ses
- z

>,

C 22
-

Qs 0r -

- 03
-

P
VAr—2 O/MPARSY PVAI—D SOP9@D KA

s 0r -

7

-

>
-

P
Ar AN >

>
-

4
SYA IS SS

L4
f

<
-

Ll

—

>
s @

S

2P, ¢ 2
POOPND PASA® AANSS s @+
- P -

-

- oc >

e

o 0 >

> AprAP SA ASAP
-

>z zo -
(e
-2

o P Fr 2
PAPA VPN F S Bt S A

<

-

P
-

z o -

for , O 24 s > >
[ e g P2 v'—'/;—‘/s,w/)
- - -

K

’-’/"‘4/1/"/'
~ 2

)

;0 ¢

L

%

zo.-
il P Bt P

"8

)-

.o ¢

>

LR B el

©

(£85

oxX - >
PP
-

o 2c¢
pgo

e« > a/)
-

%
-

e 22> o -
ISP S A S

2
-

VJ"'—‘///,'—’
-

P

(A~

¢ o -
g

> %
-

© L2, 0¢
ANV NN Ll o R o Fag]
&

>
v

s ox o0
AFIV L
-

(Fpm

-08

Orr>9,
P2 & and

- ¢ >0~ o--r 2. 0 ot 0
s mprre 1 ~lpxy r—saa %
be >

o
-

CC ekt 0cCc D
CBANS AN L@

2¢ Pror P O-
ASSA A A 8% (-5
- z

2, 02>

<

cCce 2o 0x 0¢

-!—'d-; CBAIIIIIA IS IA S A P2 VA

<

o
e
z

z i
—a

>z

o

@

-

ocro0-r

P

0,202 o0cs >

2
Cr2ps ARIPS PP ALVAIr—D PSS AL@r—s

o o

oo 2

-

-

-

s -

L 4

)

ox oo
A Pr—r>
z

22

o oleo
BIADY t @ g $on fA

Z -

oo ¢

2

>

- -

-

Page 2 of 3




>z Zo - .:.
s @

4

oc¢ o
P>

S @ 3 v

v

L4

Eod i
02

>
-

ErASY A

<

s

10,000 3<% 5
z

© o s 0C
[ 2 B
o o ¢
&=
&
>

-
=2

o
e (

oo

E’—’;J" s

z
< o ¢z
s g
-

¢ - ox
-
>
AAPAAYI— 3@
P

20~ o0 2% cccoc
Byt P SIA SRS D PAPIS @ A
4 -
Cecec POoP OrrPs
CBASIIS FYLPSF SAF IS
e>2-> o - 1 oc
Z-

-
or - 02>

CeCe P O

CPASS SIS FRSAD S8 2

2r 07 2cr 2

P

s o0c

—®aa PPN SprOSSrs

220
22

vy

Page 3 of 3

-

o

-
-

> 4
P

2, -
-
-
> Z o - 2
BPAPSN @r—sr— 3 P Doy
e

pPYAr—2> g 2,
MPIVS SV DoKG praAr—>

© 2032 03>

Qs 0 -
22 2¢ > ¢
v
2
[3
- s 08

<

e

> c

€ € ¢ e
fPAID,
2 2
2023 <s~=

30 5277 (35) 2023 A5

5411




@

2

c 2,

s P00 2
AR/ RV PPOD S S KPSV

o

-~

”

2222 -
P2 N>

2

7 O 2cko0r 0cC

10 ~omnerrrs -0]

Z

(&4 20) 62 3% 28

L

1 22558 22402

s 23 ¢
ASPS 5

<
<

<

25 -03

-

> 02

LAPPp ANPp A

P Z -
- -

-

-04

”~ O 2¢& ©0~- 0c
SIS
6 o3

Pl Lt

- z .- 2,2 oc
) smEis angs AL g S
Ed - ”* -
32

s &

(fp 4 srs 4 v

-

-~

05

">

2

ANE -
-

- o c
&=
-

= o
-

JFne pa

o c

gt

¢ -

3¢2 2205 23406

- 23 ¢
1 ASPS 5

<

2 -09

z
-

o
RIS It e gyt 3P ) S

” O 2O 0c

2 s pmiirs -8

s - OC

z
z

oo
o=

s
20 0 ¢

<

z 2

S5¢4 2258 X3A-]0

tr— ra5 25 -11
g "

z
A RA

-



¢2%,

e >z,

SRR G IFPL 2

22,
PFLA oV

"

7,0 s CO2F-
Ve FA2A S0P
-

L

o ’) ’0/ -
Cd = o @, A F @
¢ < ) /f /'}/{

*

CI2Pr Pror -
PFPIA PYAI—D

A
"

>
<7

= .22

Ed

2023 <o~

3 |

W
A

Y

)

2

it

a\

A%

0 I (R

W[l

2 [
Vs

S

a)o




ANNEX -1

Box goal net
Dimensions 8x24ft
Color White
Depth 6'
Base 6'
Material Polypropylene, HTPP
Net Type Hex mesh
Rope Size 4mm
Mesh Size 120 mm

< m o o e W B
T L
o
2 e e Tk

.




CORNER POLE
HIGN IMPACT PVC
WHITE

SPRING
ZINC FLATED STEEL

RED NYLON WITH
WHITE CLOTH EDGES

MATERIAL DETAILS

$1.666 in

0.100 in wall

CORNER POLE AND

GOUND SLEEVE
MATERIAL - HIGH IMPACT PVC

GROUND SLEEVE
HIGH IMPACT PVC




bi}) 3 f, .m.ﬁ,.. ~ oS ol
NOLLYTIVASNI "SSONG ONINNYId MO Juv SNOISNIWIC (1
‘S3ION




ANNEX - 1




-

OFFICIAL CORNER FLAGS (TYPE 2)

Dimensions 60x ! in

Material Round white high-impact plastic uprights; Round steel base with ground peg; Nylon flag

-




ANNEX -3

FEATURES:
1) HIGH IMPACT PVC CONSTRUCTION
2) FINISH: WHITE
3) INCLUDED:
STEEL SPRINGS
GROUND ANCHORS
4) ASSEMBLIED WEIGHT: 25 LBS. PER SET
SINGLE FLAG POLE WEIGHT: 6 LBS.

INTERNATIONAL CORNER FLAGS (TYPE 1)

FRONT VIEW

NN

R




Parts List
Part# | Qly Description

UZ68 4 GROUND SLEEVE FOR 68701
vZ23 4 SPRING FOR LARGE 68701 FLAG
UZ1255 | 4 POLE AND FLAG ASSEMBLY
TZ170 4 1/4-20 x 2 Hex Bolt

TZ19 4 1/4-20 Lock Nut

Q22 ,
/
™~
. i £
| |
_ _
_ | (zi70
L |
» A |
: B
\@ @8
CORNER POST ASSEMBLY
(4 LOCATIONS)




. 6B701
TOP VIEW

8B701
FRONT VIEW

6B701 %
ISOMETRIC VIEW




¥ Unpatfk all parts, and report any damages to the delivery trucking company immediately.
2. Assemble flags as shown in figures 1 and 2.

3. Dig a hole 20 1/4" deep and minimum of 6” diameter in desired location. Fill bottom of hole with 6 of 3/4"
stone. See figure 3

4. Put assembled flag and ground sleeve into hole and fill hole with concrete flush with the top of the ground
sieeve. Be sure to level ground sleeve with flag assembled before concrete cures. See figure below.

5. When removing flag, be sure to place ground sleeve cap into ground sleeve.

PARTS LIST ﬁ
A. Flags with Pole (4)
B. Springs (4)
C. Ground Sleeves (4)
D. Ground Sleeve Caps (4)
E. 1/4” X 2" Hex Bolt (4)
E 1/4" Lock Nut (4)
Fig. 1

: y W/Pole (A)

14" lock Nt () |~ H"wm"
1/4" X 2" Hex Bol
.7 . aﬁ
;O
PutBolkt | }\ ~ : '

Ground Sleev

Concrete

3/4” Stone

6
f —-' l-— 6" Minimum

Spring () Spring (8




ANNEX -4

Spine Back Board




ANNEX -5
Basket stretcher




NYLON SAFETY BELTS




	mauloomaath - (IUL)141-P-141-2023 -111
	2023-0317

